
★ z 変換の 4 法則 ★ 

線形 
𝒵[𝑎𝑥! + 𝑏𝑦!] = 𝑎𝒵[𝑥!] + 𝑏𝒵[𝑦!] 

𝒵"#[𝑎𝑋(𝑧) + 𝑏𝑌(𝑧)] = 𝑎𝒵"#[𝑋(𝑧)] + 𝑏𝒵"#[𝑌(𝑧)] 

シフト 

𝒵[𝑥!$#] = 𝑧𝑋(𝑧) − 𝑥%𝑧 

𝒵[𝑥!$&] = 𝑧&𝑋(𝑧) − 𝑥%𝑧& − 𝑥#𝑧 

𝒵[𝑥!$'] = 𝑧'𝑋(𝑧) − 𝑥%𝑧' − 𝑥#𝑧& − 𝑥&𝑧 

𝒵[𝑥!$(] = 𝑧(𝑋(𝑧) − 𝑥%𝑧( − 𝑥#𝑧("# −⋯− 𝑥("#𝑧 

𝒵[𝑥!"#] = 𝑧"#𝑋(𝑧) + 𝑥"# 

𝒵[𝑥!"&] = 𝑧"&𝑋(𝑧) + 𝑥"#𝑧"# + 𝑥"& 

𝒵[𝑥!"'] = 𝑧"'𝑋(𝑧) + 𝑥"#𝑧"& + 𝑥"&𝑧"# + 𝑥"' 

𝒵[𝑥!"(] = 𝑧"(𝑋(𝑧) + 𝑥"#𝑧"(("#) + 𝑥"&𝑧"(("&) +⋯+ 𝑥"( 

微分 𝒵[𝑛 ⋅ 𝑥!] = −𝑧 ⋅
𝑑
𝑑𝑧 𝒵

[𝑥!] 

指数倍 𝒵[𝑥!] = 𝑋(𝑧) のとき 𝒵[𝑎!𝑥!] = 𝑋(𝑎"#𝑧)  

 

★ z 変換表 ★ 

数列 [信号] 𝑥! z 変換 𝑋(𝑧) 数列 [信号] 𝑥! z 変換 𝑋(𝑧) 

1 𝑧
𝑧 − 1			6

1
1 − 𝑧"#7 

𝑎! 𝑧
𝑧 − 𝑎		6

1
1 − 𝑎𝑧"#7 

𝑛 
𝑧

(𝑧 − 1)& 		8
𝑧"#

(1 − 𝑧"#)&9 𝑛𝑎! 
𝑎𝑧

(𝑧 − 𝑎)& 		8
𝑎𝑧"#

(1 − 𝑎𝑧"#)&9 

𝑛& 
𝑧(𝑧 + 1)
(𝑧 − 1)' 𝑛&𝑎! 

𝑎𝑧(𝑧 + 𝑎)
(𝑧 − 𝑎)'  

𝐶!	 #		(𝑛) 
𝑧

(𝑧 − 1)& 𝑛𝑎!"# 
𝑧

(𝑧 − 𝑎)& 

𝐶!	 & 
𝑧

(𝑧 − 1)' 𝐶!	 & ⋅ 𝑎!"& 
𝑧

(𝑧 − 𝑎)' 

𝐶!	 ' 
𝑧

(𝑧 − 1), 𝐶!	 ' ⋅ 𝑎!"' 
𝑧

(𝑧 − 𝑎), 

𝐶!	 ( 
𝑧

(𝑧 − 1)($# 𝐶!	 ( ⋅ 𝑎!"( 
𝑧

(𝑧 − 𝑎)($# 

sin 𝑏𝑛 𝑧 sin 𝑏
𝑧& − 2𝑧 cos 𝑏 + 1 cos 𝑏𝑛 𝑧& − 𝑧 cos 𝑏

𝑧& − 2𝑧 cos 𝑏 + 1 

 


